JMC-07
TERM END EXAMINATION - DECEMBER, 2018 DIJMC-07

PG Diploma/ Advance Diploma/ Diploma
in Journalism and Mass Communication (PGDJMC/ADJMC/DJMC)
JMC/DIJMC-07: Communication Theory

Full Marks: 100 Time: 3 Hours

(Instructions: Answer all the questions from Group A, answer any four questions from Group B & any
Jour from Group C and any two question from Group D).

GROUP — A

Q.1 This group consists of 10 Multiple Choice-type questions (MCQ) and all are compulsory.
[1 X 10 =10 marks]

i. Bullet Theory was developed during------ . O6me ANIB 60 ACKER Sade ARSI
a) WW 1 Q- GYES Q
b) WW II G- S8 9
¢) WW III o DGR N
d) None of these @- 48l 669 666 Q6d

ii. What is Feedback in Communication Process? 6<IgI6£16] gaKiéq go@e @'€1?

a) Reaction of action @- @QIQ goa

b) Process of sending a message G- 0ol 6gadIa @cl

c) Anger of sender o- 670aQ Gl

d) Feedback of receiver @ digaq @24 918 @76 geas

ili. Who is the author of “Diffusion of innovation”? ‘YR AR, AERIEQIN'Q QLI @ ?

a) Evertt M Rogers @- P09 ¥ saled
b) Gabriel Tarde - QIGIM S166
¢) Donald shaw 6l- 6eIRIn 4
d) Harckruhna B. - 2608 Q.

iv. What is Iconic Model? ' geqe Fcom @'€1?
a) Physical model @- 6660 FI6EM
b) Symbolic model G-ACFOR FIEERN
¢) Mathematical model o QISle@ FI6em
d) Psychological modcl @- FldQ FIEEMm
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v. Aristotle Model of Communication is formed with-----------

PIGEonS 6Ll FEeMe ——-—-—-——- QLI 600 Q0@
a) 1 @-Q
b) 3 S
c) 5 o-&

d) All the above are true & QUERIe 19 OR,

vi. Diffusion of innovation is:
a) E.M. Rogers is the father of this theory
b) There are five steps in this.
¢) ltis driven by time.
d) All the above are true

vii, Communication Technology is:
a) Internet, audio, video are used
b) Technology is used for communication
¢) Technology used to take negative impact on society

d) Used for self

viii. Development is: QQGAR 626R:
a) Self progress

b) Development of state

¢) Development by communication

d) None of the above

ix. What is “ICT”? UR.Q.G @817
a) Information Communication Technology

b) Internet Communication Technology

c) Internet Computer Terminal

d) Information Computer Terminal

X. Inbrief Communication Process is:
a) Establish a relation with other
b) To scold someone
c) Self realization
d) All of the above
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20RQ 0QQ FARS| 62GR:

@- (@ 0QQ #Ra Q.9 691ed
o- 9910 QIE6 6P 0RE

ol- QE1<L glo) QIRe 26Y!

- QoI A8 0Q,

6T YD :’

@- Y6 REAEHT.HEE 8 AGER MRLIR 94
6i- 621IGI6KIG! DI YIBA MIRIN

o gUSA NRRIR @8 GRS AR

@- 7@ IR 9B Q4RI

@-0aR A6

S-QIRNR gole

o GRS QIS VRIS
- QU 6060 Q6L

@- oA 6DIGIELle YOI

¢ QERERE 62lGIEKlel QYO
- REAERS AT FARIR
QR AR SERIN

6JA6H! SLGICLIT PR AEEM 6LRR:

@- ZaY 986 A glae
- @8I Sl 669

o- A6R FIRQSH QG
o QUGS 91



GROUP - B

Q.2 This group consists of 6 (six) Short-type questions. Answer any 4 (four). Each answer should not

exceed 50 (fifty) words. [5 X 4 =20 marks]
a) What is cultivation theory? Q. ARcEYR ANB @'41?
b) What is the World System Theory? 6l. A MY IR 0] @'S1?
c) Define Multi Step flow Theory. 0. @8 JRQ 6Q @'&1?
d) What are the limitations of Model? d. 60M JEaa @'l 90l Q&R ?
€) What is Uses and Gratification Theory? @. LI 8 ] 0Q @'81?
f) What do you mean ‘Spiral of Silence’? Q. PI0RC! QIM @'S1?
GROUP-C
Q.3 This group consists of 6 (six) Medium-type questions. Answer any 4 (four). Each answer should not
exceed 200 (two-hundred) words. [10 X 4 = 40 marks]
a) Analyze Kincaid’s Convergence Model.

b)

d)

?. ANCRRE IRIGCIEN FBER LURNER ZCRIFR! Al

Examine DeFleur Model.

¢l. SLIQ FIEEN LURER BACAITR! AR

’

Enlist the key elements of Convergence Model of Communication.

ol. 6DIGIEAITIRN RARAEAR FIEEN 69 66 FI2RYY QIR JIY RAIRE ?

Explain the role of Information and Communication Technology for Development Communication.

Q. QRAARR 6LISISKIG O YRR 8 YUS AR BINSHAE! @'S! QXIR 6RS |

Describe the four theories of Press.

&. 6990 6017 515G o0h aa

Explain the process of Communication as explained in Shanon and Weaver model

2. Ier-6300 FI6EMER 2RI AILIRE! AIGISTITR QAFIR EMEl |
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GROUP-D

This group consists of 4 (four) Long essay-type questions. Answer any 2 (two). Each answer should not
exceed 250 (two hundred and fifty) words. [15X 2 =30 marks]

4) Write an essay on two step flow Theory and Multistep theory.

%) @629 8 9g6Ade RIS VAR AeR! 6ma |

5) Explain the Authoritarian and Libertarian theory of media

#) FP2I6R f6jeelal 8 AFINRIN 6] LINER ACAISR aa |

6) Critically analyze the Magic Bullet Theory.

9) 'FHIRG QERS" 6] LUNER AFICRICAICH Q8N 6mel |

7) How viewership is analyzed & how it can be improved?

9) QFRIAGIQ AR FETDS ANUTQ Ie° YRlq FOR Q8 RQUIRCIRR ?

A&k k
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